N & o & AF &2 H Ml A
010HE £ 1 3l LUEH GATSBA ~ HATYBA
e R P=1=E N
M AWNYESS
el AEE WA (S5l &2
SNBSS NRAY - B2 0 &4 o o173 o HlE2
Ofl A S 5 AL 58,485,578 54,954,780 3,530,798
AV 2 Y 22,340,059 8,804,796 3,535,263
AZE MENL 22,340,059 8,804,796 3,535,263
ABWFY2Y =3 149,059 155,796 ~6,737
201 Yoty 65,302 68,739 A3,437
01 At 22l 65,302 68,739 £3,437
OTMEHE, SSUAANN S S (0AE) 36,802 38,739 A1,987
OUlMR ST SAHI (KAL) 28,500 30,000 A1,500
202 OiH| 9,500 10,000 A500
01 =UH0it] 9,500 10,000 A500
ONYHHSY AMSE (HAR) 9,500 10,000 A500
203 HRFAY| 19,000 20,000 A1,000
03 AlZZ=TQ R =AY 19,000 20,000 A1,000
OAVWH2Y LRFR (KAL) 9,000 20,000 A1,000
207 HPIHLE 34,200 36,000 A1,800
01 eiE Y| 34,200 36,000 A1,800
ONZIIY MEHIL S (HAEY) 34,200 36,000 A1,800
NZTHE R 21,412,000 7,829,000 3,583,000
308 XHXICHHI SO & 21,412,000 17,829,000 3,563,000
04 WHBHZ 21,412,000 17,829,000 3,563,000
ONHZERBHI 20,985,000 17,829,000 3,156,000
ONBEMNLSHI(0EE Fore 427,000 0 427,000
TH HOAY =X 779,000 820,000 A41,000
201 Ygreg| 304,000 320,000 216,000
01 At 22l 256,500 270,000 A13,500
OSHHAL =T (Pool ) (I AR 2) 256,500 270,000 A13,500
03 A2 | 47,500 50,000 A2,500
OSHBOAY A2 HI (Pool ) (B AHE ) 47,500 50,000 A2,500
202 01t 285,000 300,000 15,000
01 =UH01H] 285,000 300,000 15,000
OSSR ET (Pool ) (0l & E ) 285,000 300,000 15,000
203 HREAY| 142,500 50,000 A7,500
03 AlR =R =Y 142,500 150,000 A7,500
OFSLOILEE U SOIADEZ (Pool ) (Ofl & E
2) 142,500 150,000 AT7,500
301 YsrPAS 47,500 50,000 A2,500
10 BAEI 243 47,500 50,000 A2,500
O AFAHI &S (A E) 47,500 50,000 A2,500
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